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20.
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24. Choose the correct indirect speech
" the given sentence.

The doctor said t% me, “Take this
medicine twice a day”. i
(a) The doctor told me that | should
take that medicine twice a day: 1d
(b) The doctor said to me that [ wou
eat that medicine twice a day. id
(c) The doctor asked me that 1 shou
take that medicine two times a
5C)

day.
Th}e doctor advised me to take that
25. Choose the appropriate meaning of the
phrase “put up with”.

medicine twice a day.
) tolerate

(b) put on a high place
(c) put clothes on
(d) keep safe

Instruction for Question Nos. 26 to 29 :

Read the following passage carefully and
answer the following questions that follow :
When I go into a stranger’s personal
library, I wander round the bookshelves to
learn what sort of person the stranger is and
when he comes in, I feel that | know the key
to his mind and the range of his interests. A
house without books is a characterless house,
no matter how rich its owner is. The rich
decoration of the drawing room and bedroom
and the luxurious bathrooms tells us that
the man is wealthy but the books tell you
whether he has got a mind as well. It is not
a question of money that we do not buy good
books or maintain a library of good books.

I repeat that the books are the cheapest

and the best part of the equipment of a few
dollars. Nearly all the best literature in the

world is at your command at two dollars a
volume. For 100 dollars

of fifty books. Even if y
yourself, they are a pri
your children. What d

revelation of books — the sudden impact of
a master-spirit, the sense of a window flung
open to the universe ? It is the adventure of

the mind, the Jjoy of which does not pass away,
that gives the adventur
and fragrance.

B

ou do not read them
celess investment for
elight is there like the

you can get a library |

e of life itself beauty |

06, Books ar

- 30.

SMRN-2 - ;,

-

ortant for
2risr3go<:‘rtlly, wl}o buys then,
e lig generation
the guyer and his next g lon
the

“all citizens

(c

Jd

at delight do
\?;1)1 It tells abou
owner
(b) It helps th

money
vz

It opens the win
(d) It is a great treasure of wealth

es a good book provid.. -,
t the character of it

e owner earn a lot of

dow to the
universe

58 How can we command the best of worl|

iterature ?
l(lat)e By establis

D) oBl;rpctﬁ'};hasing a volume pricing
vo dollars only
(c) g;fopurchasing all the good books
f the world  °
(d) 103y downloading the pdf of the best
books of the world

hing a huge library in

29. The compound word ‘master-spirit’ in
the passage means

(a) a master of spirits

(b) the spiritual effect of a master

(c) the controller of men

(d) the controlling spirit

Fill in the blank in the given sentence
by choosing the correct option.
No sooner did she arrive they
started laughing,
2] than

(b) when
(c) then

(d) that

31. Which of the fo

the correct pPass
ollowing se
‘Lock up that house.’

(a) Let that house be lockin
‘ g up by you.
Let that house locked up by you.
(c) Let that house be locked up.

(d) Let that house being locked up.

llowing options has

.

1ve voice form of the
ntence ?

32. Which of these words is wrongly spelt ?
(a) ambition b) institution
(c) Collection Y transmition

o




Wi h reference to decision making,
thh statement(s) is/are correqt ?

1 ‘Human rationality is limited.

2 Any individual can improve his
decxslon making through practice.

. Select the correct answer using the
codes given below.

2. Forehead
4. Ear
6. Chin

- Chest
Stomach

n a survey of 60 people, it was found

at 25 people read newspaper H,
read newspaper T, 26 read newspaper
read both H and I, 11 read both H
an T, 8 read both T and I and 3 read
he three. The number of people, who

21 (b) 25
(d) 52

ll you code SEARCH ?
| () WFDUGL .

WGEVQL (@) ‘WIEVGL |

g

33, ot ot 35 vt # A/
1. g affwa @tk 1
2. Eﬁé\ﬁwfﬁram%mmﬁaqﬁﬁﬁa

o U FFATE |
ﬁqnﬁﬁzm@ﬂmn@wmw
i | i
,«,ﬁ?:

() e 1 TR

(b) et 2 TR

(©) 1 af 2 i T &
(d)qzﬁlaﬂwzﬁzaa%

34. ﬁmﬁﬁﬁaﬁmﬁm@ﬁaﬁﬁm
L m?ﬁ 2. @ER

, 3w

s

f (@) 1,2,4, 6,3, 5

A 2,4,6,1,3,5

(©) 5,4,2,6,1,3

4, wH

(d 1,4,2,3,6,5

35. 6om%a§mﬁww%zswﬁﬁ1

gurEreT H 961 €, 06 GEERTT T T63 &,
26 THETTA 1 96 &, o 2rt H oMt 1 9ad &,
11 3t H 3T 9gd &, saﬁTaﬁuw‘f%*i‘;

amswﬁ?ﬁﬁqa%%lsqﬁnﬁﬁm a’r%.aa
T G TG §, ®

(a) 21 (b) 25
\Jel 30 (d) 52
36, <if% TALENT 1 %2 XEPIRX &, @l 3T
SEARCH 1 3 e # fratt 7
(a) WEDVGL (b) WFDUGL
© WGEVGL  \fd] WIEVGL

5

e S PR




.
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In order to satisfy {he ]N\mllcloglcal

37

95
o

39.

40. Creative problem solvin

needs of competence, relatedness ﬂfl‘-}
autonomy, an effective repertoire 0
which skills are necessary ?

(a) repetitive skills

(b) aggressive skills

() precision skills

(d) interpersonal skills ‘ é}\/ N
@

A plane left 30 minutes later than the

scheduled time and in order to reach its

destination 1500 km away in time it has

to increase its speed by 250 km/h from
its usual speed. The usual speed is

(@) 500 km/h
(b) 600 km/h %

(c) 750 km/h
(d) 900 km/h

senes
7,28, 63, 124, 215, 342, 511
@ 7 (b) 28

(c) 124 (d) 215

with

(a) Convergent thinking
(b) Group think

(c) Active listening

(d) Divergent thinking

41.
way as ‘Shora’ is related to

(@) Afghanistan (b) Germany

Find the wrong number in the following

‘Duma’is related to ‘Russia’in the same

SMRy. -2

37, wereal, HEgd SO 'E“”Eﬁmﬁ&;

38.

%@

g is associated | 4

(c) France (d) Malaysia

W@Eﬁww%m
@“WWW% ?
(a) Wmm

(b) TFTER T o

(c) e hercit 1

(d) SFadafm B

e arga o PufRa @@ & 30 i L,
3e1 3 38 1500 6. 4. AT T 7 gy,
g o ferg a1ft fuffa i = 250 fr
T v @ | Fuffe fe @
(a) 500 Frft. /5, ~(D 2
(b) 600 .3, /.o Lk *

TS0 Rea /@Y %

(d) 900 feh. =, /a.

gigéls 342, %
\M

(a) 7
(c) 124

(d) 215
0. mmwmﬁm%
(a) Nﬁmﬁﬁfﬁ?ﬁ
(b) T 2
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at approximate percentage of _
dual’s working hours is engaged 42, =1fFa % #rd w e e stea K

terpersonal communication ? SfaefeeR weit o g 7 ‘
= 90% (b) 60 - 70% (a) 8O - 90% (b) 60 - 70%
(d) 40 - 50% (c) 100% (d) 40 - 50%

v

43, @ Frfl TETE plx) B (x — 1) W (x - 2) B

=1) and (x - 2) it leaves remainders 5 forarfra B st 3, A S L 503 7 7S
d 7 respectively. What is the remainder 2 | T NuHS T A plx) B (x— 1) (k- 2)
shen plx) is divided by (x - 1) (x - 2) ? 2 frsnfra fen e 7
(b) 2x -1 (@) 2x + 1 (bY:2x =1
() 2x +3 ey2x-3 (@ 2x+3

problem solving process is essentially | 44. @H&N qHEH wftrn sifEd =9 T T R
an excursion through

& ?j _ Mental fixedness ‘ (@) Tt fora & e q
{b) Response fixedness LEERERL BREFTEE Y
(¢) Problem space (c) T TRE % HreH |
(d Active perspective () e v 3

he median of the following distribution | 45, aft = fQ ™ S T =S 28_.53“1,3\1 x 3

s 28.5, the values of x and y are y 3 T 2
Frequency = st SR \
T 0-10 5 ks s |
:'10_20' & 10 -20 L \
. 20-30 20 20 - 30 20 |
30 - 40 15 b’y 15 |
40 - 50 y 40,720 4 \
5060 5 e 3 \ ‘
. ,ﬁﬁere the total frequency is 60 el e SR 60
(@) 6,9 (b) 9,6 (@) 6,9 ®) 9,6
©7,8

@) 8,7 (c) 7,8 @ 8,7
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36, Assertion (A) : Moon canuot be _\-,.13.@ ;

' a satellite for communieation $ie!
Reason (R) : Moon does not move in the
equatorial plane of the earth, ‘
Choose your answer fiom the optiona

: 3 | given below,
Ei (®) Both (A) and (R) ave true and (R) ia
the correct explanation of (A)
(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(€) (A) is true but (R) is false
(d) (A) is false but (R) is true

If the day before yesterday was Saturday,

what day will be on the day after
tomorrow ?

(a) Friday

(b) Thursday
(c) Wednesday
(d) Tuesday

48. Which one of the following is a basic
method of effecting behavioural change ?
(a) Communication

(b) Recording

(c) Optimal rest

(d) Rhythmic evaluation

49. Seven poles P,Q,R, S, T, Uand VvV are put

in such a way that the distance between
the next two decreases by 1 metre, T
distance between the

and Q is 10 metres, What is the distance
between first pole P

. and the last pole V ?
(a) 42 metre “. . (b) 45 metre
(c) 48 metre : ](d)b‘ S0 metre

he
first two poles p

46,

47.

Ao R

48.

4. AW P, Q, R, S, T, Uaw v VR

_ SMRN., i
\ I feroi &5‘“. SR gy W
?E};ﬁé :%tsm'w g @ | by,
ot {R) ¢ FERAT TN AR M,
mgg%;tﬂﬂ Pt 8 e g g
() A (A) T (R) et RN (R, () )
Wt R
(by) B (A) T (R) T 8 0 (), () )
warer Tl &
(c) (A) R R WY (R) e R
(d) (A) ¥R R T (R) e

ﬁﬁmW&TWWﬁﬁ 31&3“ ur, W NN
T W AR wA-|1 R W ?
(a) YRR

B
(b) 1T b

ol o uhv
(d) WTETER

Tt 2 & srawm ofads ) wfi o |
SR Wiy Sm-wh R ?

' (a) wE

(b).at&%@q

TR B o e 3 fl A1 1000
B STt & | ) @) @) p ol o*“ﬂ”“‘i
0 10T} tq@‘mgam axfn @ V

RERLR S
(@42 () 4530m
@48 (q) 50




g& ; éﬁropﬁon is/are to be followed ?
A ta“ :ﬁ ents : Some fruits are flowers,

S ; No flower is a boat.,

All boats are rivers.

ncl“sion : I. Some fruits are rivers.

R II. Some rivers are boats.
I1I. Some rivers are fruits.
IV. Some flowers are fruits.

Codes *

.@Toniyl and III follow

M'._'O{ﬂly_ 11 and III follow

o) Only 11 and IV follow

@‘:None of the above

_ Feedback is used to effectively manage
behaviour and improve performance. It
isa form of

-

{#) mass communication
(b) informal communication

terpersonal communication

gl;oose the pair of numbers which is
different from others.
a) 14, 12 (b) 28,6

@
. (d) 42,4

SMRN-2 - 21

b

g

50. form e = srm frn ST /2 7
AT 1 T HA FeA S |
S Fet T R |
eikicEC el
Fremd : 1 g a3 (0
1. F3 afmi @ ¥ W’
111, T Ffmi v & 1A
IV. TS FAFAE v
E T4
(@) e 1 Qo 111 AFETE B 8
(b) e 11 @ [11 ¥gafa 2 ©

ey ¥ 11 3fi v sigaf@ B
(d) ST | | hrg T

51. m(ww)mm@m%m
T SHERTET B Tt 3 S B @ | T TR

(@) SH TN

(b) ST GEIT H
() SRR TR0l
(d) FHg TET

Femait ¥ g 1 T HNE S A R |
(b) 28, 6
() 42,4

52.
(a) 14, 12
(c) 34,6

TTE R AT B $AH ST R

(a) TerfRrezan we ST R Agfer FT

(b) iR T ARt foee A
Fgfera T

(c) STeTH{=a T SARFRE A

53.

nce

(d) stremoon o argfirf i dgfem we



54. Which of the following character placed | 54 u#1 firm (?) % T 9 ht'_tﬁﬁﬂ 1
at the sign of question mark (?) to N A 61 g A R 7

complete the matrix ?

r s SMRN.; | |

4¢ | 2B | 3A
28B | |? | 45B
7B | 5A | 15C

4C 2B | 3A
28B 2 45B

7B SA | 15C

(&) 7C (a) 7C

(b) 10C JY 10C

(c) 12C (c) 12C

(d) 13C (d) 13C

SS. The objective of decision making 55, fiola o o1 IgewF BT =R

should be \/(ﬂm e

(a) To make the correct choice
(b) To make the best choice (b) s fore 1 Frercr
(c) To make the risky choice (c) Sitfem W fershea =1 frafon
(d) To make the reinforced choice (d) vefera farepeq =1 FRuftor

56. Choose the odd one among the following, | 56, Fw=feiiaa & & srEma T |

(a) 15t August (a) 15 3T
(b) 26th November (b) 26 TEER
(c) 14th November \ler 14 =R
(d) 26" January (d) 26 SR

S57. Communication among members of the | 57. THM @ % Wew! & Heg FEHT0 ]
same group is

() e wEtyoy
(a) downward communication

b) iy qwiwor
(b) lateral communication (b)
(c) optimum communication (c) e FETT
(d) upward communication (d) Seefmreft gy




sent | Should only one

- compye
d to run the pAny

t,runsporl System

This will put an end to unhealthy
petition among different .
panies.

The travellers should be given
der choice of transport system,

f the above argument(s) is/are

ger with the help of codes given

argument Il is strong
th arguments I and II are strong

ENeither argument [ nor argument II

is strong

u rate of compound interest per
um will a sum of ¥ 1,200 becomes

broblem solving the present
2 nation is converted into
:fental temperament
-"ental background

fexternal mental representation

internal mental representation

-11-
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S8 T Prfl art g # FEe v BN A
ATATA Zreeeq £ wrery Y srufa 30 =nfe ?
ek
1. &l 1 gaay Prfirsr seafopit 3 mer arraeh

srezrey ufernat =61 s 21 s |
11 7€ | Pt =t araraa sraeen % 997 =79F
A 3Iyerey BT AfEw |
IuyFa a@ o wHA-A1/A 9 G 2/F 7
Frafafaa Fe % anum o 3w s |
Fe :
BEESKED ENESES
) et 7 11 69
(c) 2t o 1 3T 11 T & 4
et
(d) 7t aeh [ 3R T & aeh 11 Jvred ® 3L

59. fra aiffs wwrgfe sar it WA T 1,200 I
gy 2 auT § 3 1,348.32 & swll ?

(a) 4%

b) 3% gt il

( ) o \%(3—2:
A 6% ?

(d) P 312:36

60. THE THTHM 8§ Sda SHHRT TR fohar
S
(a) W ferwrfa &
(b) AT geav(H |
(c) aTer At wfafifirea #
(d) ariafer aHfae wfafife o
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03.
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‘ pon of
in nn examinntion, the Ainstrihtl |
e hy 30 prudents ju pver

it les obtah
i the (nllowing fuhle

o

g x,ﬁ...,ﬁm"w"‘
Marls No. of prudents
(Clnan Interval) DR
0 - 2D ) J -
Ah 10 3
L SR BRI v‘-'—"""rﬂ""‘“
40 Hb ‘7 B
oo (§)
e e— L e———————
70 - 8b O
Hh 100 O

The mode of the datn in
() HO
(b) 52
(¢) HA

(d) 55

Which one of the following I8 NOT a
number of the series ?

1, 8, 27, 64, 125, . ..

(a) 2506

(b) 512

(c) 729

(d) 1000

Which of the following is NOT an obstacle
in mindful listening ?

(@) prejudgement
(b) dual perspective
(c) message overload

(d) message complexity

il

0O

62.

63.

-12-

oy - "‘ a¢ § 9 r;{ fl};i} ;{;; s
yhy #3530 fnfdsi 5 AT ) ‘

g aypeofy i T 701 b
- 1

Tl
il W2 fffrar

|

AT p— e
10 25 A
n6-40 | 3 ‘
a0 - 55 | 7 ‘

~ 70-85 6 1

[ p5- 100 6 |

w1 arfaa 1 AT B

(n) 50

(b) 52

(c) 54

(d) 55

Prerfefiera # A A~ Aoft ) Fem TE
1, 8,27, 64,125, . . .

e 256,

2
(h) al?/
(c) 729,
(d) 100Q.

R 3 A g s i s T
() qEfola

(b) T gfeantor

(c) Taw fem

(d) wew sifeeran



meters of a circular path is 23 : 22 and

path is S m wide, then the diameter
Ze inner circle will be

“Pointing towards a person, a man said
y a woman “His mother is the only
ghter of your father”. How is the
nan related to that person ?

(o) mother

(d) daughter

‘—jgllfa person attempt to solve a problem
“on the basis of his past experience, it is
':;‘mlled

ﬁ{a} functional fixedness

~(b) mental set

4(c) transfer effect

(d) confirmation bias

. The sum of deviations of a set of
g_observations, Xy, X5, ...., X, measured
from 50 is - 10 and the sum of deviations

from 46 is 70, then the number of
: observations is

(@) 40
(b) 30
(o) 20
(d) 10

SMRN-2 - 21

64. Ak Uk FEvRR Tl ) g s e
1 ST 23 : 22 7 @ Tt 5 Y. g A,

af=afEs ga w1 =g B
. - 'f'»*{
X:~

() 55,

B 110 T,

(c) 220 #1. - ’
‘G -=
(d) 230 . ™ L= a3
Tz w.y)’ > 21
=

65. Teh et ht T Hehl Tl A T ATEHI A T Higedl
¥ w1 - “Iqhl A gren e Fi gt T 1
9% Tieen 36 AfR & forg yor g=fod @ 7

(a) T o2 - 2
Zz
(b) Tht R % £ -1
vhe) T e 2
(@) n= 1T

66. afe S sl e T 1 HEE I @i
3 STTUR T S TTe Sl 8, T I Hgl STl

(a) SeRTETeTe fRmdr
(b) AT fa=ama
(c) ST IHE

(d) gfsehtor qarard
67. el F WE x,, Xy, ... X, F 50 ¥ QW
firarerl 1 A — 10 ? 3k 46 @ R T =l
1 AT 70 R, 7 Newoit Y T&A B
(a) 40
(b) 30
(c) 20
(d) 10

-13-



' 70.

71.

BCE L

N L 3, SR AN
X 68 W@mmﬁ%
%ﬁ £ dec \n jon making “mw%
, th context ¢ mmﬂ!\\‘i m ‘ t, ST et
o ‘r%o:; al pmb&bﬂmﬂ% fa) mﬁﬁmﬂa
referred to 88 @ 8 VST
Q) S Social pmlmb\hue'a E{iﬂ: i[: 7 it
Adjustable’ probabilities - © G EA EWEl
{b) Ad) )
(@ Subjective pmbthhtieﬁ g @ mm“ ATl
(d) Non-functional pmbabilmes ‘
| o ARG wiRaE R ?, B
‘ ; 69, : ' R ¢
69. If ABC is an isosceles triangle with & . BO M AC R W
AB = AC. E and F are points on BC and a;“i;lg,ag\& % 40 “\ s
AC respectively such that AE = AF. If : AB = AF |
/BAE = 40°, then ZFEC is equal to i “&. & 6>
(a) 10° f MﬁO“
(b) 20° _ i
((l;: 25° "r (C) 25
d) 40° ' (d) 40°

Purposely manipulating information in

communication process is called

(a) Filtéring
(b) Assertiveness
(c) Deviance

(d) Abstraction

A,Band Ccando a work in 20, 30 and
60 days respectively. In how many days
can A complete the work, if he is assisted
by B and C on every third day ?
- (a) 12 ¢

(b) 15

70, mmﬁwﬁmﬁt W
W
(o) Freie
(1) SRR
(c) Forrem
(d) Sven

A, Bm{'cmmuam 20, 30 uﬂw‘
Rl # e § | fover Rl 3 A ot |
mm% uﬁmuﬁm*sﬁa‘(ﬁﬂ EW c '

@18

14




A correct word in place of ‘?’ in
_reH : CLPK : : NOSE : ? is

m

() KPLC
@ LKCP
6] KLPC
KRPH

of analogy in problem solving means

gpplication of techniques that were
ed in the past similar situations

é;iportance of escalation of
commitment

elucidating

"z_uncertainty of techniques

=4 cm and ZB =90°. The circle with

SMRN-2 - 21
72. FISH : CLPK : : NOSE : ?#
“P" % T UT WY 1R B
(a) KPLC
(b) LKCP
(c) KLPC

\(d] KRPH

73, wEE G A WIgEE 1 I Fd §
(a)awﬁaﬁwmgmﬂﬁiﬂwmﬁwﬁ
g et § o T o
(b) Serergan i Ffe 1 HE
(c) EHEATT
(d) TRt St TR

74, ABCTHREY, e AB = 39, BC= 4§,
qum 4B = 90° | TE AB STl 9 AC 1 D W

neter AB intersects AC at D and gheafd F & IR IW # D W TER@r BC
ent to the circle at D intersects BC RNE w TRreafa wE ® |99 EC ST R
. Then EC is equal to .
a) 1.8 8. A &
(e) 1.8 cm , = o [
) 2.0 cm 0 {b) 0% - c
2.5cm "('6{2'5 gt
& € : C
(d) 3.0 cm () 3.0 &3,
CPKCA ~ EC¥

‘?.Whlch one of the following word can
‘NOT be formed using the letters of the
word. PROFESSIONAL’ ?

(a) PASSION
(b) FINAL

(c) NORMAL
(d) LESSION

75. PROFESSIONAL’ Y& a1t @ Fr=fafRea
ﬁﬁw-m@mwmmm%?

(a) PASSION
(b) FINAL

Y2l NORMAL
(d) LESSION

-15-
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76. Which one of the following 18 15%7

included in paralanguage ? “i) mﬂé‘ ‘

(a bl
(a) Voice quality (b) o
(b) Verbal interaction 1 ke

(c) =%
c) Speech rate
° (d) “aHH

(d) Pitch

77. What will be the minimum value of X | 77. x 1 ~Id 1 T R

for which the number {3 (x+63)+ 640} is (B(x+63)+ 6403 FwE 17 A fmia
completely divisible by 17 ? P (a) 82 6 N -
(2) 82 \tﬁk i () 24 . T U
(b) 24 ghe "% B e
B“‘b 9_0 vd? e
(c) 7 "P/\ S\~ £ .
RUOARP 17
d) 3 ol Q @ 3
m“x\% /® -

78. Which one of the following is a version of | 78. ﬁqf%fﬁaaﬁ%aﬁq-mmmn =
‘divide-and-conquer strategy’ in problem F T St 1 T G R 7
solving ?

(@) Analogy () ¥ .

(b) Trial and error (b) e T e
| (c) Means-end analysis © mmm
‘ (d) Hypothesis testing @ mmﬂ'{

X,
~ 7

-~

79. Ifx,y, z are positive integers such that | 79 aﬁ&y,zﬂﬂlﬂﬂi‘fh‘iﬁﬂt%ﬁi X:y=

X:y=1l:2andy:z=3:5, then which | My:z'=3:5 @R ia
one of the following will be possible value

SX—-3y+zH AT AR ?
of S5x -3y +z ?
(a) 180 = 180 X} % RE

— 4 3z I

(b) 190 (b) 190
(c) 196 (c) 196 N2 Y b
(9 200 d 200 - # 5 2 o




?{1‘ b SMRN-2 - 21
,bun e :llaitingles in the followin :
fiagram and find the correqt answgc,- 80. fFmfafaa Yenfis # St A o Hifs qon

¥ I wr =hifsr |

14 (b) 18
\(/arm (b) 18

. (d) 20 (c) 16 (d) 20

fhe most frequently cited source of | 81. sradafm o w1 ToR e Igya 94 §
nterpersonal conflict is .
%= o (a) HITSHATCHS HHH
a) Organizational norms

@ ‘Poor communication (b) FASIR FESIOT
{e) Structural configuration (c) TrTeRss s
{d) Social pressure (d) TR Ta

_ fgg a sold an article at a gain of 16%. | 82. HifF¥aTI & v 16% e W= | R I W
fishe had bought at 4% less and sold 4% 9 G B 3R T 8 fE WA= A,

tfor ¥ 8 more, she would have gained A
’ , 25% o firetan | aq = 1
25%. The cost price of the article was ° S FFAA

(8) 2 225 8IS 225 SN
(®)% 200 AT % 200 ( "oy g

T,
Q6 x) 120 1

(é)? 250 (c) ¥ 250 s
(d) T 220 (d) X220 ﬂfg‘&é _ @
!

Controversy always involves 83. forme wi wnfe e @

(a) Revenge (a) gfamy

(b) Anger + (b) Aty

(¢) Passion | (c) T

9) Disagreement (d) wave

-17-
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84. Communication that save

7]
4]

ER e
[k o3

PR S S EWP S s

87.

86.

and facilitates w-ordinaﬁ‘ﬂ“ in an
organization is €@

{a) neutral commuinication

(b) upward communication

(c) lateral communication

{d) downward communication

The minimum number of colours
required to paint all faces of:a cube,
that no two adjacent faces may have the

same colour, is

(@ 1
(b) 2
(¢} 3
(d) 6

If in a code language PAINT is wntten as
74128 and EXCEL as 93596, then how
will ACCEPT be written in that code ?
(a) 455978 '

(b) 544978

(c) 554978

(d) 733961

With reference to the interpegsonail
communication in organizations,
which of the following statements is/are
correct ? ’ it
1. An efficient communication is not
always effective. g
2. An effective communication
always efficient. S
Select the correct answer using the
codes given below : &
Codes :
(a) Only 1 is correct
(b) Only 2 is correct :
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct:

85.

86.

87.

g e SRR WS R T Ry
W@mm R, FEA@ R
() T T
(b,s.dm‘ﬂm
(c)mﬁ*m ‘
(d)a*ﬁ’“‘ﬁm :
MW%MW@!WW@

s el 2 T HEH! T T
aamﬁsa%iﬂﬁﬁaxﬁm% ?
(a) 1
) 2
W3
@ 6 S

af frcht 2 W1 § PAINT I 74123
< 2 3l EXCEL %t 93596 ad, T
ACCEPT # & fran st 2
{ay455978

(b) 544978

(c) 554978

(d) 733961

e siedfafiRs @t # feh
HAFR-T/RAFETA /T 7 e

1. T o RN W Tl T S R |
2. T WTE Eu] T <& e AT R |
H3 R T o I R AR IR S
e , ‘

(a) o 1 G ?

(b) ¥ 2 §A &

(c) 1323wt d

(d)Fd 1 3dRTIR2 T E




90. .' +b+c = 3, the value of
* 2+ (1-b)3+(1-0¢3-3(1-a)
{@-b)(1-0is
27 (b) 8
' (d) 0

91. arranging the following words

cording to the English dictionary, find

(b) Queasy
(d) Queen

92}

-19-
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88, 1R 100 7k A N demi N aFa 4 a4
quicren fmfra & afes m4zﬁrmmﬁ€tb é9

el 7 @@@
(c) 20 @@

89. f=fafiga @ & s-ar forelt men & Tomam 3g
e R A R 7

(a) e fafu

(b) 10
(d) 21

(b) STH T g
(c) =a:my

(d) T

90. ARa+b+c=3,
1-a8+(1-b3+(1-c3-3(1-a)
(1-b)(l-c)HAAR
(a) 27 (b) 8
(c) 1 \d) 0

91. frfaRaa wsal wt 7S ysahly F JAJEAR
A Feh a0 wsg W Hifsr |

Q@asy Queen, Qu ahty, Question,

_Q_U,agtsr
(a) Quality \/(b’)'\ Queasy’
(d) Queen

(c) Quarter

92. fi=fafea ¥ @ - wirew siadafas g
) TRTeHehdT T ot JaT® 7
(a) Tt wirea
1%») 37 forareres wirsa
(C)W%Raﬁm
‘(d)wﬁwﬁ%aﬁéaa&
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93, fre @ 1000 FH=E! & Aot -

508 FH | 40
51-75 | 120
76 -100 | | 200
101-125] 300 |
126 — 150 150 ~ |
151-175 | 100
176 — 200 55
201 3R afer=m 35
¥ 125 F 7 a1 T 125 d Arles 57= -
CISE e RN G
(a) 81 J¥) 66
(c) 34 (d) 19

94, amaﬁ%ﬁa@mﬁa%@%a~
o fortie A (RS S e areft oft | == —
I R
(a) ¥ 9= 1
(b) =TT T T w5
(c) FRYT wdw v

(d) 7= 3R ifimfa =

9s.
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to
g ‘Commumcat:on as mutual

‘ sactlon model’, inte
: ractio
'ple is n between

jmterpretive
i lnteractwe

If 4+’ means X, > means +, X’ means “+’
g
d <’ means “~’, then whlch one of the
lowing equatlons is correct ?

SMRN-2 - 21
cqrrein 9 -3 % w9 1 g Hed’ & FER,
<l % nen ata:fEm R
(a) SATEITTHH
(b) via: R
(c) TeaTRS
(d) TEehTfeTh 7a: fomarere

96.

'{!ﬁ‘#?ﬂ:ﬂﬁ‘x’, ‘—’ms{ﬁ‘:ﬁ", ‘x"«ﬂ@ﬂi oy
qun < o o R, @ Prefrea w7

97.

e B+6-4x2+3=26 \jj;f—mné’r%? t@X@;—Lr-Hz—z
e 18+ 6+4-2+3=2 18+ 6-4%x2+3=26 QquL&X3 4
. e b)18+6+4-2+3=22X
() 18-6x7+2+8=63 1B+ 3] (c) 18_6x7<2+8=63x 1826+7-2XE
(d) 18xX6-4+7x%x8=47 F (d)18x6 4 +7%x8=47 34+
lm:—m% 19— 6%y 123 (§=12°3
95_ One morning after sunrise, Mohan and | 98, ;Eﬁaa%aﬁqaﬁgag e SN A T S A

- Sohan were standing in a lawn with
their backs towards each other. Mohan’s
shadow fell exactly towards left hand side.

~ Which direction was Sohan’s face ?

(a) East (b) West
(c) North (d) South

99. ‘Sleepingon a iJroblem’ is a form of
(@) Absti'action
(b) Emoﬁén,al instability
(c) Incubation

(d) Passiveness

100. Commiiﬁicaﬁon will be effective, if it is
(a) delivered slowly and clearly
(b) delivered using appropriate media

(© received as intended by the sender

za%ﬁ S FEE E | e < S IHF 5

anﬁeﬂmgﬁ% ltﬁ%ﬂmgzﬁmﬁmﬁ%?

(a) ‘ﬁ (b) ufem
L (o) S dy =

99. “gEEN W FE’ T TFR ®
(a) ST
(b) GamTeh T
(O IFAF
(q) o=

-

100. aarmma‘iﬁm AR
(a) tﬂiaﬁtww%ﬁmm
m)mgﬁqu%wﬂ%ﬁmm

~(d) received immediately
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